[ ®HA D B

SYL BIrEMRRE 107 BEE ENCIERR . %
TAY HELTEEAZARE BIE : TR0

1. (25%) Please find the general solution of the following ordinary differential equation
(O.D.E.):

2. Consider the 2™ order O.D.E.
y' 4+ 2y +y=f(0), y(0)=y'(0) =0
y is a function of #. Please find the initial value problems for all t = 0 according to cach

f (@) as follows.

(@ fO=1 forallt=0 @10%)

1 0<t<1

0
0 otherwise (15%)
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Prob.3 (10%)
Find the directional derivative of f(x,y,z) = sin(x — y + 2z)
at (3.2,-1.1,-3.0) in the direction of —7 +j +k

Prob.4 (15%)
Find an equation of the tangent plane to the surface of

2x —cos(xyz) =3 at(1l,m 1).

Prob. 5 (25%)
Calculate the work done by the force F(f)=i —x j +k in moving a particle

from (1,0,1) to (=1,0,7) along the curve x = cos(t), y =sin(t), z =t.






